	STENCIL 5B:   LET & BE ALLOWED TO



	IN ENGLISH THERE ARE TWO WAYS TO GIVE SOMEBODY PERMISSION TO DO SOMETHING OR NOT TO DO SOMETHING



	A. LET (let-let-let)

	B. BE ALLOWED TO (be allowed 
    to – was/were allowed to – 
    been allowed to)



	A. LET (laten)

	A.1. SIMPLE PRESENT TENSE

	AFFIRMATIVE
	INTERROGA-TIVE
	NEGATIVE

	I let him do it.
	Do I let him do it ?
	I don’t let him do it.

	You let her do it.
	Do you let her do it ?
	You don’t let her do it. 

	He lets me do it.
	Does he let me do it ?
	He doesn’t let me do it.

	She lets us do it.
	Does she let us do it ?
	She doesn’t let us do it.

	It lets him do it.
	Does it let him do it ?
	It doesn’t let him do it.

	We let them do it.
	Do we let them do it ?
	We don’t let them do it.

	You let me do it.
	Do you let me do it ?
	You don’t let me do it.

	They let you do it.
	Do they let you do it ?
	They don’t let you do it. 






	A. LET (laten)

	A.2. SIMPLE PAST TENSE

	AFFIRMATIVE
	INTERROGA-TIVE
	NEGATIVE

	I let him do it.
	Did I let him do it ?
	I didn’t let him do it.

	You let her do it.
	Did you let her do it ?
	You didn’t let her do it. 

	He let me do it.
	Did he let me do it ?
	He didn’t let me do it.

	She let us do it.
	Did she let us do it ?
	She didn’t let us do it.

	It let him do it.
	Did it let him do it ?
	It didn’t let him do it.

	We let them do it.
	Did we let them do it ?
	We didn’t let them do it.

	You let me do it.
	Did you let me do it ?
	You didn’t let me do it.

	They let you do it.
	Did they let you do it ?
	They didn’t let you do it. 















	A. LET (laten)

	A.3. PRESENT PERFECT TENSE

	AFFIRMATIVE
	INTERROGA-TIVE
	NEGATIVE

	I have let him do it.
	Have  I let him do it ?
	I haven’t let him do it.

	You have let her do it.
	Have you let her do it ?
	You haven’t let her do it. 

	He has let me do it.
	Has he let me do it ?
	He hasn’t let me do it.

	She has let us do it.
	Has she let us do it ?
	She hasn’t let us do it.

	It has let him do it.
	Has it let him do it ?
	It hasn’t let him do it.

	We have let them do it.
	Have we let them do it ?
	We haven’t let them do it.

	You have let me do it.
	Have you let me do it ?
	You haven’t let me do it.

	They have let you do it.
	Have they let you do it ?
	They haven’t let you do it. 










	B. BE ALLOWED TO  (mogen)

	B.1. SIMPLE PRESENT TENSE

	AFFIRMATIVE
	INTERROGA-TIVE
	NEGATIVE

	I am allowed to go.
	Am I allowed to go ?
	I am not allowed to go. 

	You are allowed to go.
	Are you allowed to go ?
	You aren’t allowed to go.

	He is allowed to go.
	Is he allowed to go ?
	He isn’t allowed to go.

	She is allowed to go.
	Is she allowed to go ?
	She isn’t allowed to go. 

	It is allowed to go.
	Is it allowed to go ?
	It isn’t allowed to go.

	We are allowed to go. 
	Are we allowed to go ?
	We aren’t allowed to go.

	You are allowed to go.
	Are you allowed to go ?
	You aren’t allowed to go.

	They are allowed to go.
	Are they allowed to go ?
	They aren’t alowed to go. 

















	B. BE ALLOWED TO  (mogen)

	B.2. SIMPLE PAST TENSE

	AFFIRMATIVE
	INTERROGA-TIVE
	NEGATIVE

	I was allowed to go.
	Was  I allowed to go ?
	I was not allowed to go. 

	You were allowed to go.
	Were you allowed to go ?
	You weren’t allowed to go.

	He was  allowed to go.
	Was he allowed to go ?
	He wasn’t allowed to go.

	She was allowed to go.
	Was  she allowed to go ?
	She wasn’t allowed to go. 

	It was  allowed to go.
	Was  it allowed to go ?
	It wasn’t allowed to go.

	We were  allowed to go. 
	Were we allowed to go ?
	We weren’t allowed to go.

	You were allowed to go.
	Were you allowed to go ?
	You weren’t allowed to go.

	They were allowed to go.
	Were  they allowed to go ?
	They weren’t alowed to go. 












	B.BE ALLOWED TO  (mogen)

	B.3. PRESENT PERFECT TENSE

	AFFIRMATIVE
	INTERROGA-TIVE
	NEGATIVE

	I have been  allowed to go.
	Have I been allowed to go ?
	I have not been allowed to go. 

	You have been  allowed to go.
	Have you been allowed to go ?
	You haven’t been  allowed to go.

	He has been   allowed to go.
	Has he been allowed to go ?
	He hasn’t been allowed to go.

	She has been  allowed to go.
	Has she been allowed to go ?
	She hasn’t been allowed to go. 

	It has been allowed to go.
	Has it been allowed to go ?
	It hasn’t been allowed to go.

	We have been  allowed to go. 
	Have we been allowed to go ?
	We haven’t been allowed to go.

	You have been allowed to go.
	Have you been allowed to go ?
	You haven’t been allowed to go.

	They have been allowed to go.
	Have they been allowed to go ?
	They haven’t been alowed to go. 












	DIFFERENCE IN STRUCTURE:



	A.  LET + PERSONAL PRONOUN   
     (OBJECT FORM)+INFINITIVE
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	B.  BE ALLOWED TO+INFINITIVE



